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Question Number : 1 Question Id : 505212155 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct about the process of development of an individual?
Options:

1. It is uni -dimensional in nature

2. Itis influenced only by heredity of an individual

3. There is cultural diversity in the process of development

4. Development is only based on environmental factors

Question Number : 1 Question Id : 505212155 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 505212156 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following questions is an example of enhancing critical thinking in children?
Options :

1. Find out what people living around coastal areas usually eat and why?

2. Name 10 states of India.

3. Write tables from 2 to 10.

4. Memorize and recite the given poem.

Question Number : 2 Question Id : 505212156 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 505212157 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

A stage theory of development explicitly emphasizes which of the following principles?
Options:

1. Continuity of development

2. Discontinuity of development

3. Cultural factors that influence development

4. Environmental factors in developmental process

Question Number : 3 Question Id : 505212157 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 505212158 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Children's engagement with learning in schools is influenced by which of the following factors?
(i) Socialisation by the family

(ii) Peer relations



(iii) Cultural values

(iv) Self- esteem of the children
Options :

1. (iv)

2. (ii) and (iv)

3. (i), (i), (iii), (iv)

4. (i), (iii)

Question Number : 4 Question Id : 505212158 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 505212159 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

According to Jean Piaget children in preoperational stage of development are able to do :
Options:

1. Reversible thinking

2. Make -believe play

3. Hierarchal classification

4. Conservation

Question Number : 5 Question Id : 505212159 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 505212160 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A young child can engage in symbolic play but cannot as yet take perspective of another person
and becomes easily upset by events he/ she cannot control . Which of the following stages given

by Jean Piaget applies to this child's level of development?
Options :

1. Sensori -motor



2. Pre -operational
3. Concrete operational

4. Formal operational

Question Number : 6 Question Id : 505212160 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 505212161 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The Kohlberg's model of moral development has which of the following characteristics?

Options:

1. Stages of moral development are universal in nature.

2. There is continuity in development of moral thinking.

3. Moral development is not an orderly process; it is entirely dependent on environmental factors.

4. Moral development is dependent primarily on cultural values.



Question Number : 7 Question Id : 505212161 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 505212162 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Lev Vygotsky, the zone of proximal development should be used for -
Options :

1. teaching and assessment

2. teaching only

3. assessment only

4. ascertaining fluid intelligence

Question Number : 8 Question Id : 505212162 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 505212163 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher gives a half done example to child while teaching a particular concept. According to Lev

Vygotsky's which of the following strategies is the teacher using?
Options:

1. Observational learning

2. Scaffolding

3. Conflict teaching

4. Conditioning

Question Number : 9 Question Id : 505212163 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 505212164 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The classroom environment of progressive classroom will NOT have which of the following

attitudes?

Options :

1. Involvement of children in decision making
2. Creation of a fear -free learning environment
3. Assessing individual differences of learners

4. Maintaining external discipline by the teacher

Question Number : 10 Question Id : 505212164 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 505212165 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

It is important that the teacher does not segregate children into fixed groups based upon

intelligence quotient (IQ) as -

Options :

1. it is inconvenient for teachers

2. it is inconvenient for schools

3. it does not allow children to complete among themselves across groups

4. the concept of IQ. is not stable and it also leads to labelling of children

Question Number : 11 Question Id : 505212165 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 505212166 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



According to Haward Gardener's theory, it is important to have a variety of teaching modes

/strategies within a classroom because:
Options :

1. it helps exercise multiple intelligences
2. it helps improve general intelligence
3. it helps to create 'star' students

4. it helps improve practical intelligence.

Question Number : 12 Question Id : 505212166 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 505212167 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The two -word utterances often used by young children between 1.5 to 2.5 years of age are called:
Options :

1. Overextension of speech

2. Telegraphic speech



3. Neologism

4. Babbling

Question Number : 13 Question Id : 505212167 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 505212168 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

"Men generally think with their heads and women with their hearts". This statement reflects:
Options :

1. gender discrimination

2. gender stereotypes

3. genetic differences between two sexes

4. gender constancy

Question Number : 14 Question Id : 505212168 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 505212169 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following assessment strategies would you NOT use in a progressive classroom?
Options :

1. Use of reflective journals by teachers

2. Self assessment and peer assessment

3. Reliance on norm -referenced assessment only

4. Creation of student portfolios

Question Number : 15 Question Id : 505212169 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 505212170 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

By inclusion of the language and culture of the disadvantaged and marginalised groups within the

school curriculum a teacher can ensure -
Options :

1. equality in education

2. equity in education

3. sympathy for the underprivileged groups

4. vocational education specially for under privileged groups

Question Number : 16 Question Id : 505212170 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 505212171 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A child in a classroom faces continual challenge in understanding mathematical operations

despite adequate support. This could be because of
Options :

1. Autism

2. Dyscalculia

3. Dysgraphia

4. Dyslexia

Question Number : 17 Question Id : 505212171 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 505212172 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following will NOT BE an effective strategy for the education of a student with

hearing impairment within an inclusive institution

Options :

1. Use of subtitles while screening videos / movies

2. Use of expressive body movements and gestures in teaching

3. Supplementing oral communication with textual / visual form of communication.

4. Reliance on verbalisation as primary mode of communication

Question Number : 18 Question Id : 505212172 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 505212173 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Deep seated teacher prejudices about disadvantaged groups can often be revealed through an

analysis of which of the following classroom processes?



Options :

1. Seating arrangements done on the basis of gender, caste and class

2. Encouragement of 'mastery oriented' motivational style by the teacher

3. Making reasonable accommodations for children with learning difficulties by the teacher

4. Encouraging children to examine, resist and challenge the mechanical aspects of the education

system

Question Number : 19 Question Id : 505212173 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 505212174 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Creativity in a classroom can be encouraged by providing opportunities for students to :
Options :

1. join special achievement sections

2. encouraging original discovery and thinking



3. developing good test- taking skills

4. learning convergent thinking

Question Number : 20 Question Id : 505212174 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 505212175 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Cognitive engagement of children within a constructive classroom can be facilitated by -
(i) Children's talk

(ii) Emotions of a teacher

(iii) Positive interpersonal relationships among children

(iv) Externally imposed discipline
Options :

1. (iii)



2. (iv)
3. (i), (ii), (iii)
4. (i), (ii),(iv)

Question Number : 21 Question Id : 505212175 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 505212176 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

"The failure of children is often the failure of schools" which of the following supports this

Statement?
Options :
1. School exists so that they can appropriately discriminate among student's ability

2. Children fail because schools do not take into consideration different pace of learning of



students
3. Children fail because they do not comply with school requirements

4. Children fail because of the lack of ability and less I1Q.

Question Number : 22 Question Id : 505212176 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 505212177 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To be relevant and meaningful a concept needs to be -

Options :

1. taught using a proper definition

2. linked with the social context of the child's life

3. reproduced correctly from the textbook in the child's notebook

4. memorized well so that a student can take part in competition

Question Number : 23 Question Id : 505212177 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 505212178 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The 'fear of failure ' needs to be discouraged in children within a classroom because -
Options :

1. Children's fears cannot be handled within a classroom by a teacher

2. School cannot take responsibility for emotional lives of children.

3. Failure and errors are a natural part of children's learning

4. Children who experiences fear are developmental failures

Question Number : 24 Question Id : 505212178 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 505212179 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

It is often argued that rewards may not be the best method of motivating learners because -
Options :

1. they decrease intrinsic motivation

2. they increase intrinsic motivation

3. they decrease extrinsic motivation

4. they decrease both intrinsic and extrinsic motivation

Question Number : 25 Question Id : 505212179 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 505212180 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Good problem solvers often have which set of the following characteristics?
Options :

1. Creativity, lack of response set, divergent thinking

2. functional fixedness, creativity, convergent thinking

3. Lack of response set, convergent thinking, creativity

4, Divergent thinking, functional fixedness, response set.

Question Number : 26 Question Id : 505212180 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 505212181 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Teacher beliefs about success / failures of students often influence learning and motivation of
students especially form the disadvantaged group. Which of the following statements is correct in

this context?

Options :

1. Teacher expectancy influences children's learning significantly

2. Teachers need to control student autonomy within the classroom

3. Teacher should encourage children to 'perform' better than others and complete well

4. Teacher need to train such students in strategies to 'avoid' failure at any cost.

Question Number : 27 Question Id : 505212181 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 505212182 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To be able to create a positive learning environment within the classroom, it is important that the

teachers -



Options :

1. follow the fixed time table well

2. are able to discipline children using awards and punishments
3. are able to include children's emotions within learning process

4. are able to discriminate between the 'abilities' of children and make groupings accordingly

Question Number : 28 Question Id : 505212182 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 505212183 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Should a teacher be considered as authority figure within the classroom, who cannot be

challenged?

Options:

1. Yes, it helps students gain the value of obedience and respect for teachers

2. Yes, only such a teacher can provide clear guidance and precise conceptual celerity to students

3. No, Students are afraid to ask questions from such teachers which results in lack of conceptual



clarity

4. No, teachers in any case are irrelevant for student learning in the digital age.

Question Number : 29 Question Id : 505212183 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 505212184 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Should 'wrong' answers of students be corrected by the teachers during class discussions?
Options :

1. Yes, children's errors should be immediately rectified

2. No, children should be encouraged to express themselves without fear of being incorrect

3. Wrong answers are always a reflection of lack of conceptual clarify and must be always

corrected

4. Children come to school to gain correct information, so their answers should be corrected

immediately.



Question Number : 30 Question Id : 505212184 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Id : 50521211

Question Shuffling Allowed : Yes



Question Number : 31 Question Id : 505212185 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Siraj arranges apples in his kitchen in such a way that he has put 11 pairs of apples in the first row, 22 pairs
of apples in the second row and 33 pairs of apples in the third row. So how many apples does Siraj have in
his kitchen?

Options :
1. 66

5 132

3 123

Question Number : 31 Question Id : 505212185 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 66

5 132

3 123

Question Number : 32 Question Id : 505212186 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Consider the following statements:

(1) All prime numbers are odd numbers.

(II) There are only five single digit prime numbers.
(HII) There are infinitely many prime numbers.

(IV) A prime number has only two factors.

Which of the above statements are true?
Options :
1 (1) and (1V)

(1), (ll1) and (V)

2.
5 () and (IV)
4 (Iand (IV)

Question Number : 32 Question Id : 505212186 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. () HR (iv)

5 (i), (iii) 3 (iv)



3. (i) 3T (iv)

4 (i) 3T (iv)

Question Number : 33 Question Id : 505212187 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

School NSS unit has decided to distribute Ekg of sugar to every needy student. They got 28 % kg sugar from
a sponsor for this purpose. To how many sfudents this sugar can be distributed?

Options :
1. 38

2 39
3. 40

4, 36

Question Number : 33 Question Id : 505212187 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 38

2. 39

3. 40



4, 36

Question Number : 34 Question Id : 505212188 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are true with respect to integers?
Statements A: Product of two numbers is always greater than or equal to the numbers.
Statements B: Sum of two numbers is always greater than or equal to both the numbers.

Options :
1. Both A & B are true

2 Both A & B are not true
3. Alis true but B is not true

4. Alis not true but B is true

Question Number : 34 Question Id : 505212188 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

qUITeR! & TEY H $TH ¥ i T HYTT Hled ¥ FUT A g A7

FUF H: Eﬁ'HMIJﬁ'EI?FdéUIﬁLhH HeT TEATHT & 8T I 3TY AU+ gar gl
FUA T, & TEITH! F1 S T FEATHT & ST I 3Y 30w 2T ¢
Options :

| e AR T EaE

, a3 AT HETE



5 ‘¥ TTE AT T AL

, H IETgaFa T acaE

Question Number : 35 Question Id : 505212189 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Rinki has three plates of Jalebies: Plate A, Plate B and Plate C. Plate A has only one Jalebi, Plate B has five
Jalebies and Plate C has three Jalebies. She wants to put equal numbers of Jalebies in all the plates. Which
of the following statement is true?

Options :

1. Take two Jalebies from Plate B and put in Plate A
, Take one Jalebi from Plate B and one from Plate C and put both in plate A
3. All three plates cannot have equal number of Jalebies

4. Take one Jalebi from Plate Aand put in Plate C so that Plate B and Plate C have equal number of Jalebies.

Question Number : 35 Question Id : 505212189 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 36 Question Id : 505212190 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
If LCM of 6 and 7 is half of the LCM of (x,y ) and if x is 12, what will be the value of y ?

Options:
1.6

2. 24

Question Number : 36 Question Id : 505212190 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

6 3R 7 &1 e WAV (x,) 5 T WA 1 3T ¢ 3R A X 7 A 128, Ay F1 A
HEI

Options :
1.6

2. 24



Question Number : 37 Question Id : 505212191 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the best approximation of Lol

1.51

Options :

2 X7

1. 11

3 =7
2. 11

Question Number : 37 Question Id : 505212191 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

PR AT Y 7 gaw =T Gledeed ST Tr 7

11.51

Options:
2T

1. 11

3N T



InT

3. 12
3Ix8
4, 12

Question Number : 38 Question Id : 505212192 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Jaya is studying in class 1. Teacher gave her some picture cards: Battery of a clock, orange, ice cream cone,
candle, book and a steel glass. Teacher asked Jaya to pick objects that are of similar shape. She picked the
following: battery of a clock, candle and steel glass. She has categorised them together as they have a
common attribute of

Options :
1 Height of the objects

» Cylindrical objects
3. Weight of the objects

4. Spherical objects

Question Number : 38 Question Id : 505212192 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 505212193 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Find the angle traced by hour hand of a correct clock between 6 am and 3 pm.

Options :
1. 90°

5 180°
3. 270°

4. 30°

Question Number : 39 Question Id : 505212193 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
a6 91 B 2IET 3 §1 & a9 U el T3 1 G0 1 s fobciet 390 5 0T g orE?

Options :
1. 90°

5, 180°



3, 2/0°

4, 30°

Question Number : 40 Question Id : 505212194 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A rectangle with sides (only in natural numbers) having area 24 cm? cannot have perimeter
Options :

1. 20 cm

2 22 cm
3. 2bcm

4. 28 cm

Question Number : 40 Question Id : 505212194 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T 3T, Foreehy S7T, (35 Tt W3 1 §), 7 9t 24 361 Y €, 3ert ST o7 81 Wevel

Options :

1. 20 HEHET
5 22 T

3, 25 WY



4. 28 HEHRT

Question Number : 41 Question Id : 505212195 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A distance of 1 centimetre on a map represents 100 kilometres on the ground. If two cities are 3400
kilometres apart on the ground, then their distance on the map will be

Options :

1. 8 centimetres
2 9 centimetres
3. 8 and a half centimetres

4. 9 and a half centimetres

Question Number : 41 Question Id : 505212195 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T Ao o 1 ST o g, ffr R 400 oot ot g at v vl 1 g oy s g e 3400
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Options :
1. 8 HeHEX
2. 9 HAAR

5. BT 3T HEMART

4. TS =t HAHET



Question Number : 42 Question Id : 505212196 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Inan 800 m race, Anup took 14 seconds to complate the first 100 metres and 2 seconds more for next 100
metres and 2 seconds more than two previous time for next 100 metres and so on. How much time Anup has
taken to finish the race?

Options :

1. 2 minutes 20 seconds
2. 2 minutes 48 seconds
3. 2 minutes 8 seconds

4. 1 minute 52 seconds

Question Number : 42 Question Id : 505212196 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 43 Question Id : 505212197 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

|dentify the next number by observing the digits in each number:
910, 821, 732, 643, —

Options:
1. 554
5 444

3 555

4. 454

Question Number : 43 Question Id : 505212197 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Tcdes AT & 3eh Al Tg=ITeTeh] 3ol HEAT 9410
910, 821, 732, 643,

Options :
1. 554
> 444

3. 555

4. 454



Question Number : 44 Question Id : 505212198 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The mean of the marks obtained by a child in five subjects is 74. He scored 70, 75 and 80 marks in three of
the subjects. What is the mean of the marks obtained by the child in the remaining two subjects?

Options:
7. 12

, 725

3 745

Question Number : 44 Question Id : 505212198 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
7. 12

, 725

3. 74.5

Question Number : 45 Question Id : 505212199 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Following are the details of the moming walk of Harshit, Amina and Joseph on a particular day

Name Starting Time | Ending time
Harshit 5.32am 6.49 am
Amina 527 am 6.37 am
Joseph 6.06 am 7.31am

Which among the following is correct.
Options :

1. Harshit and Amina walked for same duration.

» Joseph walked 8 minutes more than Amina.

3. Joseph walked 15 minutes more than Harshit.

4. Amina walked for the least duration.

Question Number : 45 Question Id : 505212199 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 505212200 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Achild is not able to differentiate squares from rectangles and assigns both of them to the same category.
According to Van Hiele theory of geometric reasoning, the student is at which level?

Options:

1. Axiomatic level

5 Analysis level

3. Deduction level

4. Visualisation level

Question Number : 46 Question Id : 505212200 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 505212201 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which among the following is the appropriate sequence for introducing the concept of addition of natural
numbers?

(A) Providing an experience with a contextual situation

(B) Represents the situation using symbols

(C) Verbalizing the situation

(D) Representing the situation through pictures

Options :
1. C d,b, a
> &¢d,b

3 & b,dc

4. g, d.a,hb

Question Number : 47 Question Id : 505212201 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
et 1 8 3l W1 A Sopat FEAnaT it A e Fr 2w & o 39gEd g

Options :
1.¢d,b,a



> a,¢db
3 & b d. 6

4. ¢ d,a,b

Question Number : 48 Question Id : 505212202 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to National Curriculum Framework (2005), which of the following premises reflects the vision of
Excellent Mathematics Education

Options :

1. Ahigh quality mathematics education is the one in which no student fails.
» Mathematics Education should provide varied career options to the students.

3. All students can learn mathematics and that all student need to learn mathematics.

4. Success in Olympiads and competitive exams is indicative of excellent mathematics education.

Question Number : 48 Question Id : 505212202 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 505212203 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ateacher told her students to maintain a daily mathematics journal to note down the situations where in they
use mathematics in their daily life. The objective is to:

Options:

1 Prepare the class for a forth coming inspection.
» Help students improve computational skills.

3. Help students connect classroom mathematics to that of the outside world.

4. To test students’ understanding of their daily life.

Question Number : 49 Question Id : 505212203 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 505212204 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Mathematics is not just Arithmetic’. Which of the following statements is the most appropriate in the given
context?

Options :
1. Only patterns of geometrical shapes should be taught at primary level.

, Algebra is exclusive of Arithmetic.
3. Geometry should be introduced as a separate section in mathematics textbook.

Ares of mathematics like shapes, spatial understanding, measurement, data handling must be given due
4. Place inmathematics curriculum.

Question Number : 50 Question Id : 505212204 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 505212205 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following concepts CANNOT be taught using Dienes blocks?

Options :

1 Numbers and place value

, Probability

3. Addition

4. Subtraction

Question Number : 51 Question Id : 505212205 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 505212206 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When asked to write ‘six thousand sixty five' in the numeral form, a student wrote it as 665. The error
occurred because

Options :

1 the child does not have the understandings of numerals

> the student does not have an idea of cardinal and ordinal numbers

3. Itis an operational error.

4. the student has not understood the concept of place value.

Question Number : 52 Question Id : 505212206 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 505212207 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While solving a problem on addition, ‘234 +42', a student said aloud: “If it were 40 then it would be 244,
254,264, 274 but its 42, so it will be 274+2 = 276", therefore 234 + 42 is 276.
Which one of the following statements is correct for the strategy used by the student?

Options :

1 Oral computational strategies must be discouraged in mathematics classroom
5 The work of a teacher is increased while correcting problems solved by such methods
3. Such algorithms are not indicative of students conceptual knowledge

Use of Informal strategies in mathematics help a teacher to know the process of child's understanding of a
concept
4,

Question Number : 53 Question Id : 505212207 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 505212208 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Few students are confused with the words 'Quotient " and 'Remainder’. Which among the following is an
appropriate strategy to address the confusion of the students?

Options :

1 Demonstration of many division problems on Blackboard by the teacher.
, Provide worksheets to students and ask them to practice it.

Use concrete materials and ask students to group them in different ways and observe the number of groups
3. and tems outside the groups.

4. Writing the definition of quotient and remainder at least 20 times.

Question Number : 54 Question Id : 505212208 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 505212209 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which among the following is NOT a feature of the Summative Assessment in mathematics?
Options:

1. It is term end examination.

» Itis used for grading, promotion and placement.
3. Itfocuses on diagnosing the strength and weakness of the children.

4. Itis product oriented rather than process oriented.

Question Number : 55 Question Id : 505212209 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 505212210 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which among the following is the most desirable feature of mathematics teaching?
Options :

1 Present an algorithm to the class and direct students to memorise it.
» Create and pose challenging and meaningful problems for the students.
3. Instruct students to solve the problem as per the model problem solved in the textbook.

4. Ask students to solve problems on the blackboard.

Question Number : 56 Question Id : 505212210 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 505212211 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following represents correct matching set?

(a) Misconception

(b) Representation 4<5

(c) Estimation SR
-4 - =-
(d) Comparison 48 X 52 = 2500
Options :

1. (a,iii), (b, i), (c, iv), (d , ii)

5> (@, iv), (b, i), (c, iii), (d, i)

3. (@, iii), (b, i), (c, i), (d , iv)

4. (@,iv), (b, i), (c, iii), (d, ii)

Question Number : 57 Question Id : 505212211 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1 (&iii), (b,i), (c,iv), (d,ii)

, (a,iv), (bjii), (ciiii), (d,)

3. (aiiii), (b,ii), (c,i), (d,iv)

4. (@,v), (b,i), (c,iii), (d,ii)

Question Number : 58 Question Id : 505212212 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While introducing the concept of multiplication Ms Neetu, a class Il teacher, started with word problems such
as “There are 4 members in a family and if each member requires 3 rotis for lunch, how many rotis are
required? What is the objective of using this type of word problems to introduce the concept?

Options :
1 To improve the communication skills of children
5 To develop the ability to connect real life situation with mathematical problems.

3. To integrate mathematics and language classes

4. To focus only on developing mathematical language among children



Question Number : 58 Question Id : 505212212 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 505212213 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which among the following are correct with respect to the nature of mathematics?

a : Mathematics has its own language.
b : There is always one solution to any mathematical problem.
¢ : Mathematical concepts are abstract.

Options :
1. aandb

> aandc

3 bandc



4 a,bandc

Question Number : 59 Question Id : 505212213 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 505212214 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Visualization and Representations' are important processes to be ensured in mathematics teaching at
primary level because

Options :
1. they have implications for teaching algebra and geometry in higher mathematics.

, these are the only skills to be taught at primary level .

3. these are the only ways to assess learning in mathematics.



4. they make the teacher’s work easy.

Question Number : 60 Question Id : 505212214 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 1
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 505212215 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Kuduk' is the spoken language of the people of
Options:

1. Assam

2. Arunachal Pradesh

3. Mizoram

4. Jharkhand

Question Number : 61 Question Id : 505212215 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 62 Question Id : 505212216 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Your house is located at X and your school is located at Y; Although your school is just opposite but
you cannot go straight because of the busy highway in between. So, you first go 100m due north,
then cross a 75m long subway which is due west and finally reach your school at Y which is 100m

due south. With respect to school Y your house at X is
Options :

1. 100 M due north

2. 100 m due south

3.75 m due east

4.75 m due west

Question Number : 62 Question Id : 505212216 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 505212217 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

A train started from Nagarcoil on 5th June 2020 at 04:15 hours and reached Gandhidham on 7th
June 2020 at 03:15 hours. The distance covered by the train is 2640 km. the average speed of the

train during this journey in km/h is nearly
Options :

1.52

2.54

3.56

4. 58

Question Number : 63 Question Id : 505212217 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 505212218 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The best period for the people of Bihar to start bee - keeping (litchi) is
Options :

1. July to September



2. October to December
3. January to March

4. April to June

Question Number : 64 Question Id : 505212218 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 505212219 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Velcro is used to stick together many things. Who among the following got inspiration from nature

to make Velcro?
Options:

1. Isaac Asimov
2. Ronald Ross

3. George Mestral

4. Gregor Mendel



Question Number : 65 Question Id : 505212219 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 505212220 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is a union territory of India?
Options :

1. Arunachal Pradesh

2. Manipur

3. Meghalaya

4. Jammu and Kashmir

Question Number : 66 Question Id : 505212220 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
fAteAtEgd o & &9 WRA &1 99 ST J897 22

Options :




1. SRS T899

T AR FHR

Question Number : 67 Question Id : 505212221 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following states of our country has mines of aluminium?
Options :

1. Odisha

2. Assam

3. Bihar

4. West Bengal

Question Number : 67 Question Id : 505212221 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 505212222 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In Braille script, rows of raised dots are made on a thick paper. This script is based on
Options :

1.5 dots

2.6 dots

3.7 dots

4. 8 dots

Question Number : 68 Question Id : 505212222 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 505212223 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Many steps are needed to grow union crop. Consider the following steps and select the option in

which these steps are given in correct order

A Digging to loosen the soil

B. Cutting the dried leaves from the top of the onion

C. Sowing of seeds

D. Weeding

E. Plucking the onion out

Options :
1.A,C,D,E,B
2.A,D,C,B,E

3.A,C,Db,,B,E

4. A,D,C,E,B

Question Number : 69 Question Id : 505212223 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

., A,C,D,E,B

, A,D,C,B,E

;s A,C,D,B,E

. A,D,C,E,B

Question Number : 70 Question Id : 505212224 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

There is a place in our country called cold desert. This area is high, dry and flat. This areais in
Options :

1. Shillong (Meghalaya)

2. Darjeeling (West Bengal)

3. Shimla (Himachal Pradesh)

4. Leh (Laddakh)

Question Number : 70 Question Id : 505212224 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 505212225 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

From the following fruits and vegetables select those which have seeds inside.

Bitter-gourd,Cucumber,Chikoo, Lady finger, Onion, Pear, potato, Tomato
Options:

1. Cucumber, Chikoo, Lady finger, Onion, Pear

2. Butter-gourd, Cucumber, Chikoo, Lady finger, Potato, Tomato

3. Butter-gourd, Cucumber, Chikoo, Lady finger, Pear, Tomato

4, Bitter-gourd, chikoo, Ladyfinger, Tomato, Potato

Question Number : 71 Question Id : 505212225 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 505212226 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following animals looks like a bear but is not. This animal spends 17 hours a day
sleeping while hanging upside down on a tree branch and eats the leaves of the same tree. The

average life of this animal is almost 40 years and in their time at moves around only eight trees
Options :

1. Chimpanzee

2. Langur

3. Panda

4. Sloth

Question Number : 72 Question Id : 505212226 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 505212227 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the locations in column I with the correct descriptions of the common houses found in most

villages of that location given in column II

Column I Column II

A. Assam I Houses made of stone/wood with sloping roofs

B. Laddakh II Houses made of stones with wooden floor and wooden flat ceiling

C. Manali (Himachal Pradesh) III Elevated houses made on bamboo pillars

D. Rajasthan IV Houses of snow (igloo)

V Mud houses having roofs made of thorny bushes
Options :

1. A-1I1, B-I, C-1I, D-V

2. A-V, B-1V, C-1I, D-I

3. A-111, B-1I, C-I, D-V

4. A-111, B-1, C-1V, D-V

Question Number : 73 Question Id : 505212227 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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4 AL B C-IV, D-V

Question Number : 74 Question Id

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: 505212228 Question Type : MCQ Option Shuffling : Yes Is

Our earth is round like a globe. There is actually no 'Up' or 'Down' on the earth and it is just

relative. We the people of India, actually stand on the surface of earth "upside -down" in relation

to the people of
Options :

1. Algeria

2. Argentina

3. Australia

4. Austria

Question Number : 74 Question Id

: 505212228 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 505212229 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In order to get more yield from his fields a farmer is growing paddy crops over and over again

using excess of fertilizer and pesticides. This practice will make the soil of his fields
Options:

1. more useful for the paddy crops only

2. fertile for other crops also

3. fit for ploughing and sowing seeds

4. ultimately unfit for growing any crop

Question Number : 75 Question Id : 505212229 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 505212230 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following sets correctly represent four of the six themes suggested in the EVS

syllabus as prescribed by NCF 2005?

Options :

1. Plants, Animals , Family and Food, Materials

2. Family & Friends, Food, Water and Travel

3. Thing We make and do, Food, Materials and Plants

4. Work and play, Food , Materials and Travel

Question Number : 76 Question Id : 505212230 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 505212231 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What are the good practice of making students' portfolios ?

(A) Selecting work to be included in the portfolio on the basis of a specific reason
(B) Selecting all items of work of a student to be put in portfolio
(C) making child select her/his work to be put in portfolio

(D) Collecting range of student's work over a period of time
Options :

1.A,B&C

2.A&D

3.A,B&D

4. A, C&D

Question Number : 77 Question Id : 505212231 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 505212232 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to NCF 2005, which of the following is true about syllabus of EVS?

Options :

1. EVS syllabus is presented as integration of Environmental Education and social science
2. EVS syllabus is a thematical integration of social science and Environmental Education
3. EVS syllabus is integration of science and Environmental Education

4. EVS syllabus is integration of Environmental Education, social science and science

Question Number : 78 Question Id : 505212232 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 505212233 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An EVS teacher asks her/his learners to conduct a survey on different fuels used in the
neighbourhood. Which of the following process skills can be developed during the conduction of

this survey

Options :

1. Hypothesis making

2. Critical thinking

3. Recording and listening skills

4, predicting and reporting skills

Question Number : 79 Question Id : 505212233 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 505212234 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What are the essential elements of continuous assessment for learning?

(a) it is used for passing judgement on the child

(b) it has to be built into the learning situations

(c) it provides scope for teachers to adjust their teaching-learning methodology

(d) it provides no scope for learners to monitor and improve their work
Options :

1.a,b&c

2.3, c&d

3.0nlyb&c

4.0nly a &d

Question Number : 80 Question Id : 505212234 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 505212235 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Kunal invited a local artisan to his school for a workshop on tie and dyeing of clothes. The purpose

of inviting local artisan are the following EXCEPT

Options :

1. learners appreciate her skills and knowledge

2. learner appreciate the technology involved in the tie and dyeing
3. helping students learn local language

4. provide hands-on experience of doing tie and dye

Question Number : 81 Question Id : 505212235 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 505212236 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Meher has few students in class who have been displaced from their native place due to a natural

disaster and have problems adjusting in school environment. As EVS teacher you would
Options:

1. be patient so that they naturally adjust with time.

2. make a group of only displaced students and give them group work.

3. encourage them to accept displacement as a fact immediately and move on.

4. help them interact more with other students and share their stories.

Question Number : 82 Question Id : 505212236 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ﬁﬁ%wmmﬁ@%mﬁ%ﬁm%m e %mwﬂﬁ@@ﬁﬁ%@ﬁ?ﬁﬂ@%ﬁﬂ%%ﬂm
FTTa A FHAITSHA 0§ el 2] T € 1.7, To7e0 3 % 4 40

Options:



| ST B A1 3 =TI B @ 999 % AT GHEd a5 95

, e TaeeTiue TTeTefiaT 31 75 FHE S mﬁﬂﬂgm%ﬁl

5 I UF 77 % B F faeame ﬁrg{n TR T ST ST 94 o 1590 Treemies )

4, T S T % W1 ST O H Hag il S SR FEE AT H |

Question Number : 83 Question Id : 505212237 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The rational for using 'Community' as a resource is that

Options :

1. it helps accept all knowledge in the community uncritically

2. helps popularize and disseminate local knowledge without questioning it

3. community itself has a stake in their children's learning and needs to be involved

4. community if not involved will be offended

Question Number : 83 Question Id : 505212237 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 505212238 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Aarohi asked her learners to draw a map of their classroom. This activity will help in developing
Options:

1. skills of predicting and calculating

2. recording data

3. understanding of relative positions and orientations

4. skill of drawing landscapes

Question Number : 84 Question Id : 505212238 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 505212239 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a guiding principal for curriculum development
Options :

1. Connecting school knowledge to outside world

2. Ensuring that learning shifts from rote methods

3. making examination more easier

4. ensuring curriculum so that it goes beyond textbooks

Question Number : 85 Question Id : 505212239 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 505212240 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
While assessing learners in EVS our has to avoid

Options :



1. using variety of ways of collecting information.
2. immediate recording of event for rich accurate details.
3. using group work as basis of assessment.

4. using technical language during assessment.

Question Number : 86 Question Id : 505212240 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 505212241 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

There is a story in class V about Ronald Ross who received Nobel Prize for medicine in 1902 for
discovery that mosquitoes spread malaria while working in a hospital in Secundarabad. He details
in his own words how he spent time chasing mosquitoes, cutting open mosquito's stomach and

observing it under microscope. What would be the purpose of including Ronald Ross's story in EVS
(a) to help learners understand about scientific processes

(b) to inspire learners to write stories



(c) to encourage learners to collect more exciting stories about various discourses

(d) to appreciate history of science
Options :

1.a,b,c

2.a,¢d

3.b,cd

4.3,b,d

Question Number : 87 Question Id : 505212241 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 505212242 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Bhusan wanted to integrate the theme 'Travel' in his language class of class II. What would you

suggest as the most suitable resource for his classroom transaction
Options :

1. audio-visual clip on travel

2. Poem on travel

3. Models on modes of travel

4. Children's own experiences of travel

Question Number : 88 Question Id : 505212242 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 505212243 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A learner in your EVS class shares her observation about a beggar boy in her neighbourhood and



wants to know why his parents do not send him to school. How would you respond to the leaners

as a teacher?

Options :

1. listen but stick to your lesson plan

2. Explain condition of beggars all over India

3. Discuss the issue separately with the learner

4. acknowledge her observation and discuss it in whole class

Question Number : 89 Question Id : 505212243 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 505212244 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Games and riddles are important part of EVS teaching and learning as
Options:

1. they provide break from classroom monotony



2. they provide fun time for learners
3. they allow learners to discover patterns on their own

4. they are easy to transact in classroom

Question Number : 90 Question Id : 505212244 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Language I
Section Id : 5052129
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30

Enable Mark as Answered Mark for Review and
Yes
Clear Response:



Sub-Section Number : 1
Sub-Section Id : 50521213

Question Shuffling Allowed : Yes

Question Id : 505212245 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension
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Sub questions

Question Number : 91 Question Id : 505212246 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 505212247 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 505212248 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 94 Question Id : 505212249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 505212250 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
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4.4

Question Number : 96 Question Id : 505212251 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 505212252 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 505212253 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 99 Question Id : 505212254 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3

4.4

Question Id : 505212245 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension
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Sub questions

Question Number : 91 Question Id : 505212246 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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4, fes=

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 505212247 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 505212248 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3

4.4

Question Number : 94 Question Id : 505212249 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
1. I 99 DA A JE-A19E OEHEl [{YS @
2, AT AG-AR GFS 0l
3, 29 §iE GFEce Sifvereas #sre e
4, ITHTES DRNGT W FATIRCE OF TS DAL

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 505212250 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 505212251 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 97 Question Id : 505212252 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 98 Question Id : 505212253 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2
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4.4

Question Number : 99 Question Id : 505212254 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 2
Sub-Section Id : 50521214

Question Shuffling Allowed : Yes

Question Id : 505212255 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension
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Sub questions

Question Number : 100 Question Id : 505212256 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 101 Question Id : 505212257 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
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Question Number : 102 Question Id : 505212258 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 103 Question Id : 505212259 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
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Question Number : 104 Question Id : 505212260 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 105 Question Id : 505212261 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Id : 505212255 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension
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Sub questions

Question Number : 100 Question Id : 505212256 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 101 Question Id : 505212257 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 102 Question Id : 505212258 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



1, =T e T
2, 991 farme waw Sf<EE
3, WIS S (&9 a0
4, TR SCAETS (@5 Tate
Options :
1.1
2.2
3.3

4.4

Question Number : 103 Question Id : 505212259 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 104 Question Id : 505212260 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 105 Question Id : 505212261 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 50521215

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 505212262 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
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Question Number : 106 Question Id : 505212262 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
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Question Number : 107 Question Id : 505212263 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 107 Question Id : 505212263 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 108 Question Id : 505212264 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 108 Question Id : 505212264 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
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Question Number : 109 Question Id : 505212265 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 109 Question Id : 505212265 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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1.1
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Question Number : 110 Question Id : 505212266 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
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Question Number : 110 Question Id : 505212266 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 505212267 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3

4.4

Question Number : 111 Question Id : 505212267 Question Type : MCQ Option Shuffling :

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

9oRe! o fare o @A frmidlie 229 TR Aneite e oA e 9l Soefa e @
1, 7 TI-(EIAE TF FE TR (QEEF CER (7 AGEH 727 |
), TA-RATARE (AR TE R AR 7, TR (06 Frees oA *ife i
3, AR AR TECF 2, TR (RS (OGS e AT |
4, Torss T2 O T (o6 oo 991 B5S, [ 3R e e 9

Options :

1.1

2.2

3.3

4.4

Question Number : 112 Question Id : 505212268 Question Type : MCQ Option Shuffling :

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

No Is

No Is
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Options :
1.1
2.2
3.3

4.4

Question Number : 112 Question Id : 505212268 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 113 Question Id : 505212269 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 505212269 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 505212270 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3

4.4

Question Number : 114 Question Id : 505212270 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 505212271 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
g5 ORFere Remidiene e 4 WA O Sl feg ol Ehe) e
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Options:
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 505212271 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 505212272 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1, fegmgaa (Dyscalculia)

2, femaller (Dysgraphta)

3, fomeilem (Dyspraxia)

4, TeEsm (Dyslexia)
Options:
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 505212272 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
<RI T (9 e gem AR o R (R Boeel 77 JIS | TS ol (RIS 7 39
a7
1, fegmgaa (Dyscalculia)
2, femaller (Dysgraphta)
3, femeifem (Dyspraxia)

4, TeEism (Dyslexia)
Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 505212273 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 505212273 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 505212274 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 118 Question Id : 505212274 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
o e @IS oS $im TR (0] 98 TGRSO GFGI?
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Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 505212275 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3

4.4

Question Number : 119 Question Id : 505212275 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 505212276 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
3.3

4.4

Question Number : 120 Question Id : 505212276 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3

4.4

Language II
Section Id : 50521210

Section Number : 5



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 50521216
Question Shuffling Allowed : Yes

Question Id : 505212277 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension



Directions: Read the passage given below and answer the
questions that follow by choosing the correct / most appropriate
options.

L. Across India, 39.4 % girls aged 15-18 years drop out of
school and college, according to a recent report by the
National Commission for Protection of Child Rights. Of the
girls who drop out, 64.8% do so not because they are
engaged in jobs, but because they are forced to take up
household chores.

While the percentage of such “out of school” adolescent

boys in not far behind, at 35% only 33.4% of that number

are “non-workers”, the recently published report said

3. The Commission said its report was aimed at not only
highlighting the number of children who have dropped out
of school but also at showing how a majority of girls in the
15-18 age bracket are “left out of India’s current skill
development programme.”

4. The report said that India’s formal education system does
not provide the skills that children require to earn a
livelihood. Adolescent girls in India are “especially
disadvantaged™, also, given their low school enrolment
rates. “They are among the most economically vulnerable
groups who typically lack access to financial capital and
have limited opportunities to gain the education, knowledge
and skills that can lead to economic advancement™, the
report said.

. The report recommended starting skill development scheme
specially for adolescents, apart from other policy level
changes.

6. The commission said that, the economic empowerment of
adolescent girls can be a *critical lever’ to their lives, as it
would not only help them become financially independent
but will also mean more women in the labour force. The
report said this will also boost their confidence and
improve their overall wellbeing.

I3

Ln

Sub questions

Question Number : 121 Question Id : 505212278 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



According to the National Commission for Protections of
Child Rights, 65% of adolescent girls drop out of school
and college because

there is a general bias against girl education.

of lack of basic facilities in educational institutions.
they are not interested in studies.

they are forced to do household chores.

ol o

>

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 505212279 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The basic purpose of the report is to
1. motivate parents to support and encourage girl
education.
underline the importance of orientation programme
for teachers.
3. rope in all stakeholders to promote girl education.
4. highlight the shortcoming of the present formal
education system.

)

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 505212280 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The main shortcoming of formal education system
according to the writer is

1. too much emphasis on rote learning.
lack of enthusiasm on the part of teachers.
outdated pedagogy.
our failure to equip students with livelihood skills.

L 1

e

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 505212281 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements :
A. Economic empowerment of women will end gender
inequality.
B. Large number of adolescent girls drop out of school
for lack of basic facilities.

A ls true, B is false
Both A and B are false
B is true, A is false
Both A and B are true

il il

=

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 505212282 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following words is similar in meaning to the
word, ‘resilience ’ as used in the passage (Para 1) ?
1. flexibility
2. suitability
3. masculinity
ability

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 505212283 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following, words is opposite in meaning to the
word, ‘majority’ as used in the passage (para 3) 7

plurality

equality

minority

priority

SR e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 505212284 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which part of speech is the underlined word in the
following sentence ?

Economic empowerment of adolescent girls will boost
their confidence

Noun
Pronoun
Adverb
Conjunction

il

B

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 505212285 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of the following sentence contains an error ?

There is no pursuit more nobler than
(A) (B)

the pursuit of self improvement
(C) (D)

(c)
(d)
(a)
(b)

Lot 1 =

o

Options :
1.1
2.2
3.3
4.4

Question Id : 505212277 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No



Question Numbers : (121 to 128)
Question Label : Comprehension

Directions: Read the passage given below and answer the
questions that follow by choosing the correct / most appropriate
options.

1. Across India, 39.4 % girls aged 15-18 years drop out of
school and college, according to a recent report by the
National Commission for Protection of Child Rights. Of the
girls who drop out, 64.8% do so not because they are
engaged in jobs, but because they are forced to take up
household chores.

While the percentage of such “out of school” adolescent

boys in not far behind, at 35% only 33.4% of that number

are “non-workers”, the recently published report said

3. The Commission said its report was aimed at not only
highlighting the number of children who have dropped out
of school but also at showing how a majority of girls in the
15-18 age bracket are “left out of India’s current skill
development programme.”

4. The report said that India’s formal education system does
not provide the skills that children require to earn a
livelihood. Adolescent girls in India are “especially
disadvantaged™, also, given their low school enrolment
rates. “They are among the most economically vulnerable
groups who typically lack access to financial capital and
have limited opportunities to gain the education, knowledge
and skills that can lead to economic advancement™, the
report said.

5. The report recommended starting skill development scheme
specially for adolescents, apart from other policy level
changes.

6. The commission said that, the economic empowerment of
adolescent girls can be a ‘critical lever® to their lives, as it
would not only help them become financially independent
but will also mean more women in the labour force. The
report said this will also boost their confidence and
improve their overall wellbeing.

I

Sub questions

Question Number : 121 Question Id : 505212278 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



According to the National Commission for Protections of
Child Rights, 65% of adolescent girls drop out of school
and college because

there is a general bias against girl education.

of lack of basic facilities in educational institutions.
they are not interested in studies.

they are forced to do household chores.

ol o

>

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 505212279 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The basic purpose of the report is to
1. motivate parents to support and encourage girl
education.
underline the importance of orientation programme
for teachers.
3. rope in all stakeholders to promote girl education.
4. highlight the shortcoming of the present formal
education system.

)

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 505212280 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The main shortcoming of formal education system
according to the writer is

1. too much emphasis on rote learning.
lack of enthusiasm on the part of teachers.
outdated pedagogy.
our failure to equip students with livelihood skills.

L 1

e

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 505212281 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements :
A. Economic empowerment of women will end gender
inequality.
B. Large number of adolescent girls drop out of school
for lack of basic facilities.

A ls true, B is false
Both A and B are false
B is true, A is false
Both A and B are true

il il

=

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 505212282 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following words is similar in meaning to the
word, ‘resilience ’ as used in the passage (Para 1) ?
1. flexibility
2. suitability
3. masculinity
ability

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 505212283 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following, words is opposite in meaning to the
word, ‘majority’ as used in the passage (para 3) 7

plurality

equality

minority

priority

SR e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 505212284 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which part of speech is the underlined word in the
following sentence ?

Economic empowerment of adolescent girls will boost
their confidence

Noun
Pronoun
Adverb
Conjunction

il

B

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 505212285 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of the following sentence contains an error ?

There is no pursuit more nobler than
(A) (B)

the pursuit of self improvement
(C) (D)

(c)
(d)
(a)
(b)

Lot 1 =

o

Options :
1.1
2.2
3.3
4.4

Sub-Section Number : 2
Sub-Section Id : 50521217

Question Shuffling Allowed : Yes



Question Id : 505212286 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)
Question Label : Comprehension

Directions : Read the passage given below and answer the
questions that follow by choosing the correct / most appropriate
options.

1. Ithink it was really my love of walking that first took me to
the hills, and then kept me there for two decades. It had
become increasingly difficult for me to walk about in Delhi,
and I resented this, because I had been walking about in
Delhi before most of my readers were born. As a youth I
walked from Connaught Place to Humayun Tomb, and
from Paharganj to Pusa and although as the years passed I
still covered these distances occasionally, It was no longer a
pleasurable activity. Rather it become an obstacle race, an
exercise in survival.

. Now whenever I visit Delhi, I do not even try covering long
distances. Even crossing a road is something of a feat for
me. Usually I wedge myself between two well- built women
and cross over in their company . No Maruti owner would
risk damage to his car by colliding with me.

3. But being a compulsive walker, I stay out of Delhi as much
as possible and do most of walking in the hills. Even hill
stations are congested these days, but as I live on the
outskirts of one, I have no difficulty in marching off for a
few miles with only myself and a circling eagle for
company. Here too, motor roads have multiplied But it is
possible to leave them at will, taking any old path that

leads through fields of maize or mustard , or through oak
and rhododendron forest, until a village is reached.

4. Here there is always hospitality if you are not the arrogant
or fastidious sort. And occasionally you might come across
a mountain stream where you can rest on a bed of ferns.
And if there is no stream, you will eventually find a spring,
perhaps a mere trickle of water but welcome all the same.
Some springs dried up last year when the rains failed. Let
us hope for the sake of bird and beast and thirsty trekker
that it rains this winter.

-3

Sub questions

Question Number : 129 Question Id : 505212287 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

What accounts for the long stay of the writer in the hills ?

The salubrious hilly climate

His love of mountain streams and forests
The serenity of the hills

His love of walking

e v

s

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 505212288 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The author does not enjoy walking about in Delhi because

it is no longer a friendly city

it has become very congested

there is a lot of noise due to industrial activities
high level of pollution in Delhi dampens the mood.

bt e

o

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 505212289 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The last paragraphs reveals nature’s
mystery

creativity

beauty

liberality

W -

i



Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 505212290 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

How is a nature lover rewarded when he reaches a village a
few miles from the hill ?

1. He enjoys perfect peace and serenity.

2. He enjoy the sight of farmers engaged in their usual
activities.

3. He hears the chirping of birds.

4. He comes across a mountain stream or a spring.

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 505212291 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following word is similar in the meaning to
the word, ‘occasionally” as used in the passage (para 1) ?

sometimes
rarely
frequently
often

o bt

el

Options :
1.1
2.2



3.3
4.4

Question Number : 134 Question Id : 505212292 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words is opposite in meaning to the
word, “difficulty’ as used in the passage (para 3) ?

eagerness
simplicity
clarity
ease

ol o

B

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 505212293 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of speech is the underlined word in the
following sentence ?

Here in the hills there is always hospitality .

1. Adjective
2. Noun

3. Adverb

4. Pronoun

Options :
1.1
2.2
3.3
4.4



Question Id : 505212286 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)
Question Label : Comprehension

Directions : Read the passage given below and answer the
questions that follow by choosing the correct / most appropriate
options.

1. Ithink it was really my love of walking that first took me to
the hills, and then kept me there for two decades. It had
become increasingly difficult for me to walk about in Delhi,
and I resented this, because I had been walking about in
Delhi before most of my readers were born. As a youth I
walked from Connaught Place to Humayun Tomb, and
from Paharganj to Pusa and although as the years passed I
still covered these distances occasionally, It was no longer a
pleasurable activity. Rather it become an obstacle race, an
exercise in survival.

. Now whenever I visit Delhi, I do not even try covering long
distances. Even crossing a road is something of a feat for
me. Usually I wedge myself between two well- built women
and cross over in their company . No Maruti owner would
risk damage to his car by colliding with me.

3. But being a compulsive walker, I stay out of Delhi as much
as possible and do most of walking in the hills. Even hill
stations are congested these days, but as I live on the
outskirts of one, I have no difficulty in marching off for a
few miles with only myself and a circling eagle for
company. Here too, motor roads have multiplied But it is
possible to leave them at will, taking any old path that

leads through fields of maize or mustard , or through oak
and rhododendron forest, until a village is reached.

4. Here there is always hospitality if you are not the arrogant
or fastidious sort. And occasionally you might come across
a mountain stream where you can rest on a bed of ferns.
And if there is no stream, you will eventually find a spring,
perhaps a mere trickle of water but welcome all the same.
Some springs dried up last year when the rains failed. Let
us hope for the sake of bird and beast and thirsty trekker
that it rains this winter.

-3

Sub questions

Question Number : 129 Question Id : 505212287 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

What accounts for the long stay of the writer in the hills ?

The salubrious hilly climate

His love of mountain streams and forests
The serenity of the hills

His love of walking

e v

s

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 505212288 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The author does not enjoy walking about in Delhi because

it is no longer a friendly city

it has become very congested

there is a lot of noise due to industrial activities
high level of pollution in Delhi dampens the mood.

bt e

o

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 505212289 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The last paragraphs reveals nature’s
mystery

creativity

beauty

liberality

W -

i



Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 505212290 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

How is a nature lover rewarded when he reaches a village a
few miles from the hill ?

1. He enjoys perfect peace and serenity.

2. He enjoy the sight of farmers engaged in their usual
activities.

3. He hears the chirping of birds.

4. He comes across a mountain stream or a spring.

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 505212291 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following word is similar in the meaning to
the word, ‘occasionally” as used in the passage (para 1) ?

sometimes
rarely
frequently
often

o bt

el

Options :
1.1
2.2



3.3
4.4

Question Number : 134 Question Id : 505212292 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words is opposite in meaning to the
word, “difficulty’ as used in the passage (para 3) ?

eagerness
simplicity
clarity
ease

ol o

B

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 505212293 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of speech is the underlined word in the
following sentence ?

Here in the hills there is always hospitality .

1. Adjective
2. Noun

3. Adverb

4. Pronoun

Options :
1.1
2.2
3.3
4.4



Sub-Section Number : 3
Sub-Section Id : 50521218

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 505212294 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A language teacher usually begins her class by giving certain sifuation, posing few questions, sharing their experiences
etc. This is known as

1) Pre-reading task
2) While-reading task
3) Ongoing task

4) Post-reading task
Options:
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 505212294 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A language teacher usually begins her class by giving certain sifuation, posing few questions, sharing their experiences
efc. This is known as

1) Pre-reading task
2) While-reading task
3) Ongoing task

4) Post-reading task
Options:
1.1
2.2
3.3
4.4



Question Number : 137 Question Id : 505212295 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To assess reading ability at the primary level which one of the following is most appropriate?
1) Identifying the alphabet
2) Knowledge of punctuation marks
3) Comprehension of the text

4) Fluency in reading.
Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 505212295 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To assess reading ability at the primary level which one of the following is most appropriate?
1) Identifying the alphabet
2) Knowledge of punctuation marks
3) Comprehension of the text

4) Fluency in reading.
Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 505212296 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The major focus of Communicative Language Teaching is to

1) encourage learners to speak like native speakers.
2) focus on the form of the target language.
3) provide communicative competence to learners.

4) focus on pronunciation by drill and practice
Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 505212296 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The major focus of Communicative Langnage Teaching is to

1) encourage learners to speak like native speakers.
2) focus on the form of the target language.
3) provide communicative competence to learners.
4) focus on pronunciation by drill and practice
Options :
1.1
2.2
3.3

4.4

Question Number : 139 Question Id : 505212297 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The method that is based on the coordination of language and physical movement is
1) Task Based Language Learning
2) Total Physical Response
3) Cooperative Language Learning

4) Communicative Language Teaching



Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 505212297 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The method that is based on the coordination of language and physical movement is
1) Task Based Language Learning
2) Total Physical Response
3) Cooperative Language Learning
4) Communicative Language Teaching
Options:
1.1
2.2
3.3

4.4

Question Number : 140 Question Id : 505212298 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
What are the prerequisites of foundational literacy and numeracy?
1) Listen, speak and arithmetic
2) Read. write and basic operation with numbers
3) Write, read and Environmental studies
4) Read, write and play with numbers
Options :
1.1
2.2

3.3



4.4

Question Number : 140 Question Id : 505212298 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What are the prerequisites of foundational literacy and numeracy?
1) Listen, speak and arithmetic
2) Read. write and basic operation with numbers
3) Write, read and Environmental studies

4) Read, write and play with numbers
Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 505212299 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is most appropriate regarding the tasks we design for learners to support grammar learning?
1) It should be meaningful.
2) It should be highly informative.

3) It should be purposeful from teacher’s perspective.
4) Tt should not have a social function

Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 505212299 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which one of the following is most appropriate regarding the tasks we design for learners to support grammar learning?
1) It should be meaningful,
2) It should be highly informative.

3) It should be purposeful from teacher’s perspective.
4) 1t should not have a social function

Options:
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 505212300 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Grammar-Translation method does not
1) encourage learning through mother tongue
2) give importance to grammar
3) enhance a student’s communicative skill
4) enable the student to use the language fluently

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 505212300 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Grammar-Translation method does not
1) encourage learning through mother tongue
2) give importance to grammar
3) enhance a student’s communicative skill
4) enable the student to use the language fluently

Options :



1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 505212301 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which among the following is not true?
1) A good text for language class is culturally overloaded.
2) A good textual content should cover all the grammatical structures.
3) A good text for language class has relevance and interest for learners.
4) A good text is that which has the right length

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 505212301 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which among the following is not true?
1) A good text for language class is culturally overloaded.
2) A good textual content should cover all the grammatical structures.
3) A good text for language class has relevance and interest for learners.
4) A good text is that which has the right length

Options :
1.1
2.2
3.3
4.4



Question Number : 144 Question Id : 505212302 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which among the following supports a pre-reading activity?
1) Using paraphrasing tasks
2) Using a prediction task
3) Asking learners to summarise the text
4) Teaching grammatical structures

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 505212302 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which among the following supports a pre-reading activity?
1) Using paraphrasing tasks
2) Using a prediction task
3) Asking learners to summarise the text
4) Teaching grammatical structures

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 505212303 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The tasks such as writing as a character or a spectator of the actions and ideas of the texts come under
1) extrapolative questions
2) comprehension questions
3) text analysis
4) language analysis

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 505212303 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The tasks such as writing as a character or a spectator of the actions and ideas of the texts come under
) extrapolative questions
2) comprehension questions
3) text analysis
4) language analysis

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 505212304 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a language class, poetry
1) should be taught exactly in the same way as a prose piece is taught.
2) should be taught first by giving an elaborate introduction of the poet.
3) is for understanding, appreciation and enjoyment.
4) is much about the poem and the poet

Options :

1.1



2.2
3.3
4.4

Question Number : 146 Question Id : 505212304 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a language class, poetry
1) should be taught exactly in the same way as a prose piece is taught.
2) should be taught first by giving an elaborate introduction of the poet.
3) is for understanding. appreciation and enjoyment.
4) is much about the poem and the poet

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 505212305 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While assessing students a language teacher gathers information about students
1) to give feedback to students using technical terms and language.
2) using a variety of tools and techniques across the scholastic and co-scholastic aspects.
3) to label them as outstanding, average and dull as per their performance.
4) for the purpose of using more teaching aids in the language class

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 505212305 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While assessing students a language teacher gathers information about students
1) to give feedback to students using technical terms and language.
2) using a variety of tools and techniques across the scholastic and co-scholastic aspects.
3) to label them as outstanding, average and dull as per their performance.
4) for the purpose of using more teaching aids in the language class

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 505212306 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The test that is designed to find the learners’ difficulties, gaps in their knowledge and skill deficiencies during
the course is called

1) achievement test
2) proficiency test
3) placement test
4) diagnostic test

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 505212306 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The test that is designed to find the learners’ difficulties, gaps in their knowledge and skill deficiencies during
the course is called

1) achievement test
2) proficiency test
3) placement test
4) diagnostic test

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 505212307 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is not correct about portfolio assessment?
1) Portfolio assessment provides evidence of a student’s learning.
2) It helps students to become more autonomous.
3) It fosters students reflection and helps them to self monitor their learning.
4) Portfolio assessment is one time assessment of a student’s learning.

Options:
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 505212307 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is not correct about portfolio assessment?
1) Portfolio assessment provides evidence of a student’s learning.
2) It helps students to become more autonomous.
3) It fosters students reflection and helps them to self monitor their learning.
4) Portfolio assessment is one time assessment of a student’s learning.

Options :



1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 505212308 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the grammar class, we should first

1) explain how the form (grammar item) is made

2) present the grammar form (item) in natural discourse
3) explain irregular forms, if any

4) describe its social function

Options:
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 505212308 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the grammar class, we should first

1) explain how the form (grammar item) is made

2) present the grammar form (item) in natural discourse
3) explain irregular forms, if any

4) describe its social function

Options :
1.1
2.2
3.3
4.4



